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���
  ��������������������������� ���!"��#���$$%&��$��&�������&
%��������	�  �'� ��$������	�(�
������)*�+��,%�� 6  #��.�����	�
������&�'��������#���
�%��
���)*�+������)*�+���(�$/�!� �#� 1  ����������!1�����
����������� ��	#�������
%��2&�������%&��$    
 ���3�����	3��%��
(�
��������	���
���
  ��4�������	�(�
������)*�+��,%�� 6  #��.�����	�
�
�����&�'��������#���
�%�����)*�+������)*�+���(�$/�!�  �#� 1  �'����%�
���
� 545 ��  �'����
��4����3�����	3��%��
(� ��3�����	������'�����'����
����%&��$���
�%�� 1  �'���� 74 ��   
���3�����	3��%��
(�
���� ��3�����	������'�����'����
����%&��$���
�%�� 2  �'���� 118 ��   
������3�����	3��%��
(�
���� ��3������(�������  ��������(��.��������  ���
(�
�����������!1�
���� �'���� 353 ��  ��;��������	&����
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������
��� 
 ;��������	  �$�3� 
 1.  ;����������$$%&��$��&�������&%��������	�
����
���
  2&��$$%&��$��& 
�������&%��������	� �'� ��$������	�(�
������)*�+��,%�� 6  (��&�������$ 5 �������� �'���� 
7 =$�$  &����
 
 =$�$%�� 1  �$$%&��$��&�������&&���"�+�                                        �'���� 10 #�� 
 =$�$%�� 2  �$$%&��$��&�������&&���������3�����3�
����
(��'�      �'���� 10 #�� 

  =$�$%�� 3  �$$%&��$��&�������&&��������#                                       �'���� 10 #�� 
  =$�$%�� 4  �$$%&��$��&�������&&���� ��;�                                       �'���� 10 #�� 
  =$�$%�� 5  �$$%&��$��&�������&&�������������?�                                 �'���� 10 #�� 

 =$�$%�� 6  �$$%&��$��&�������&&��������������$�/�                           �'���� 20 #�� 
  =$�$%�� 7  �$$%&��$��&�������&&��������'�                                    �'���� 10 #�� 

 2.  ;����������$��!"���$$%&��$��&�������&%��������	�  �'� ��$������	�(�
�
�����)*�+��,%�� 6     #��.�����	�
������&�'��������#���
�%�����)*�+������)*�+���(�$/�!�  
�#� 1  ����!"�������!1�  &����
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     2.1  =$�$%�� 1 �$$%&��$��&�������&&���"�+� �'���� 10 #�� ���3������%��	����
�(�����
� ���
���3 .80 �*� 1.00  ���3�����	����
���3 .31 �*� .74   ���3��'�����'������
���3 .19 �*� 
.57   ���3������(��������%3���$ .72   ����������%��	�����(��.��������  .&	���3���������%?�A
� ������?���
���3 .37 �*� .70        

      2.2 =$�$%�� 2  �$$%&��$��&�������&&���������3�����3�
����
(��'�  �'���� 
10 #��  ���3������%��	�����(�����
� ���
���3 .80 �*� 1.00  ���3�����	����
���3 .47 �*� .72   ���3�
�'�����'������
���3 .17 �*� .40   ���3������(��������%3���$ .75  ����������%��	�����(��.��������
.&	���3���������%?�A� ������?���
���3 .50 �*� .62   
     2.3  =$�$%�� 3  �$$%&��$��&�������&&��������#  �'���� 10 #�� ���3������%��	����
�(�����
� ���
���3 .80 �*� 1.00  ���3�����	����
���3 .42 �*� .78  ���3��'�����'������
���3  .18  �*� 
.46  ���3������(��������%3���$ .72  ����������%��	�����(��.��������  .&	���3���������%?�A
� ������?���
���3 .32 �*� .66   
       2.4  =$�$%�� 4  �$$%&��$��&�������&&���� ��;�  �'���� 10 #�� ���3������%��	����
�(�����
� ��%3���$ 1.00  ���3�����	����
���3 .45 �*� .78   ���3��'�����'������
���3 .28  �*� .59       
���3������(��������%3���$ .75  ����������%��	�����(��.��������  .&	���3���������%?�A� ������?�
��
���3 .44 �*� .65   
      2.5 =$�$%�� 5  �$$%&��$��&�������&&�������������?�  �'���� 10 #��  ���3�   
�����%��	�����(�����
� ��%3���$ 1.00  ���3�����	����
���3 .39 �*� .74  ���3��'�����'������
���3 
.17  �*� .49  ���3������(��������%3���$ .73   ����������%��	�����(��.��������  .&	���3�
��������%?�A� ������?���
���3 .46 �*� .70   
      2.6 =$�$%�� 6  �$$%&��$��&�������&&��������������$�/�  �'���� 20 #�� ���3�
�����%��	�����(�����
� ��%3���$ 1.00  ���3�����	����
���3 .53 �*� .70  ���3��'�����'������
���3 
.18 �*� .58       ���3������(��������%3���$ .79  ����������%��	�����(��.��������  .&	���3�
��������%?�A� ������?���
���3 .31 �*� .66     
      2.7 =$�$%��  7 �$$%&��$��&�������&&��������'�  �'���� 10 #��  ���3�              
�����%��	�����(�����
� ��%3���$ 1.00   ���3�����	����
���3 .43 �*� .73  ���3��'�����'������
���3 
.20  �*� .62  ���3������(��������%3���$ .78  ����������%��	�����(��.��������  .&	���3���������%?�A
� ������?�  ��
���3 .34 �*� .74 
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 3.  ��!1�����#���$$%&��$��&�������&%��������	�  �'������	=$�$
��/�#��
�����%�����  ����2&�&����
 
      =$�$%�� 1  �$$%&��$��&�������&&���"�+� �������%�������
���3 T26 �*� T68 
      =$�$%�� 2  �$$%&��$��&�������&&���������3�����3�
����
(��'�   
�������%�������
���3 T26  �*� T65 
      =$�$%�� 3  �$$%&��$��&�������&&��������#  �������%�������
���3 T20 �*� T69 
      =$�$%�� 4  �$$%&��$��&�������&&���� ��;�  �������%�������
���3 T26 �*� T65 
      =$�$%�� 5  �$$%&��$��&�������&&�������������?�  �������%�������
���3 T26 �*� 
T68 
      =$�$%�� 6  �$$%&��$��&�������&&��������������$�/�  �������%�������
���3 T25  
�*� T69 
      =$�$%�� 7  �$$%&��$��&�������&&���"�+� �������%�������
���3 T22 �*� T65 
 
��

����� 
 1.  �����%��	�����(�����
� �#���$$%&��$��&�������&%��������	�  �'� ��$������	�
(�
������)*�+��,%�� 6  .&	��������!����;/��(��	�(�C   ��3�&�(��������&����� (IOC) #��
#���'������$���������$#���������&  ;�����I�3�  ���3�&�(��������&�������
���3 .80 �*� 
1.00  ��&�
 �� J��3�  �$$%&��$��&�������&%��������	�%�������#*
���������&�������&
�
��3��&���2&���������������%��	�����(�����
� ��/�  %�
���
���������;/�����	2&�������$$%&��$���
#�
����  �/�������� �����(� &��%�� ���!�&� ����'���� (2547,  ��� 91-95)  2&���3��2��  ���  ��
����'� �&��&��3� ��	#�����
(��$$%&��$  )*�+������� �'��� ����������	%������	�#���  
�'� �&���������$%�����������&  �'� �&��	���(���I�$������#�����������$%�����������&  
�'� �&#�$�#�#�������&
���3�����������$  ����'� �&�������#�	��'����  M*�������;/�����	
2&�������$$%&��$��&�������&%��������	����J�  �����'�2�
 �;/��(��	�(�C������$��!"��
&�����������(�����
� � �*�%'�
 �2&��3�&�(��������&�����%���/�  �������'�2�
(�%&��$2&� 
 2.  ����	������'�����'������	#��#���$$%&��$��&�������&%��������	�  
�'� ��$������	�(�
������)*�+��,%�� 6  ������%&��$���
�%�� 1   ���3�����	����
���3 .09 �*� .86   
������3��'�����'������
���3  - .16 �*� .67  M*��;����������� ����
���
�$�3� #����$$��#��	��
����2� ��� ���3�����	����'���3� .20  ���#����$$��#���3�	����2�  ��� ���3�����	���/���3� .80   
M*����4�#����$%��
(�2�32&� �������������!��3��'�����'���� �$�3� �3��'�����'����$��#�����3���'�
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2�3�	/3
���!1�%��� �����  ������&%�
�2�  %�
���
�����4�������3�  �$$%&��$%��
(�
����
���
�*�������
���
(�%&��$��4����
����  	��2�3;3������������ � ���!"�����3��  %'�
 ����&����$���3��
 ��	������ �(3� #���'����2�3(�&���  ���
(�������(�&�������2�  �'����M�$M�������2� N�N  
��3�����2&���&�����#����$%������!"��������$����#����$
 �����!"���/�#*
�  �����'�2�%&��$
���
�%�� 2  �$�3�  �3�����	��#���$$%&��$  ���3���
���3 .31 �*� .78  ����3��'�����'������
���3 
.09  �*� .60  2&��3�����	������3��'�����'����%��&�#*
���3��&��  ��4�;������������$����
#����$�����&�����#����$�����������  M*����&�������$�������	#�� ���!1�  �����%� (2546)   
%��2&���O���$$��$��&�������&%���!��)�����  �'� ��$������	�(�
���?	�)*�+��,%��  3      
��� ��&���)��?�����(  ;��������	 �$�3� 
����%&��$���
�%�� 1 �$$��$��&���3�����	��
��
���3 .12  �*� .93 ����3��'�����'������
���3  - .10 �*� .88  ��������2&���&�����#����$%����
��!"�������!1�������$����#����$�����'�����$
����
�%�� 2  �$�3����3�����	����
���3 .18 
�*�.85  ����3��'�����'������
���3 .12  �*� .88  M*����� J��3�  2&��3�����	������3��'����
�'����%��&�#*
�  
 3.  �����%��	�����(��.��������#���$$%&��$��&�������&%��������	�  �'� ��$
������	�(�
������)*�+��,%�� 6  .&	��� ��3���������%?�A� ������?��$$���	�����  �� �3�������
��	#����$��������
���3��=$�$  �$�3�  ������������?�����	3������	�'���C%�������%����&�$ 
.01  .&	���3���������%?�A� ������?���
���3 .31 �*� .74   ��&��3� �$$%&��$�������%��	�����(��
.��������  %�
���
��4�������3��$$%&��$%�������#*
�����������#���'������&�P�������3��Q %����&
���������$��$�������%P+R��(�����SCC�����������& ��	���������$#���?����.�� 
 4. �����(�������#���$$%&��$��&�������&%��������	�  �'� ��$������	�(�
�
�����)*�+��,%�� 6  �$$%&��$���3������(�������  ��
���3 .72 �*� .79  �$$%&��$=$�$%�����3�
�����(��������/���&  ���  �$$%&��$=$�$%�� 6  &��������������$�/�  ���3������(������� .79  ���
�$$%&��$=$�$%�����3������(���������'���&  ���  �$%&��$=$�$%�� 1  &���"�+�  ����$$%&��$
=$�$%�� 3  &��������#  ���3������(������� .72  ��&�
 �� J��3�  �$$%&��$%��=$�$�������(�������
�	/3
���!1�
(�2&�   ��&�������$ ���� ��		) �������!� ��		) (2543,  ��� 209)  M*����3���3� 
�����(�������#���$$��&������3������3� .70  ����$$%&��$��&�������&%��������	�%�������
#*
���
���3������(�������
������	���$;/�%����	�����2��  ��� )�������� ��������& (2552)  2&���������
 ���!"��#���$$%&��$�������&%��������	�&���"�+�  � ��;�  �����#  ����������?� ���
 �����	���!���������������	���!�;����P%?�A%��������	�#��������	�(�
���?	�)*�+��,%�� 6  
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�;�������	���%	�)�����-�!��)����� ;��������	�$�3� �$$%&��$�������&%�
� 4 =$�$  ���3�
�����(���������
���3 .73 -.8 
 5. ��!1�����#���$$%&��$��&�������&%��������	�  �'� ��$������	�(�
�
�����)*�+��,%�� 6  ���3������%������	/3�� �3�� T20 �*� T69 M*����2&�.������+!��$�M��	 ��&�
�3� ������	��3��
 C32&���������  #����$�3��#����3�	  ������3�����	���3��
 C3�/���3� .50 
�������!1�
������&�����3��=$�$
������	���$��!1�
������&���%�� (��� �������� (2520,  ��� 
53)  2&��'� �&2���3� ����������%��$��&�$��!"��#��������	��3��	/3
���!1��/� �����'���� ���
���	���	�
& 
 ������!�&����
  
    ��
���3  T65  #*
�2� ����3�     ���%����& 
   ��
���3  T55 T T64 ����3�     ��� 
    ��
���3  T45 T T54 ����3�     ������� 
    ��
���3  T35 T T44 ����3�     ���	 
    ��
���3  T34  ���� ����3�     ���	%����& 
 M*����!1���

(���$�$$%&��$����U��   ����$$%&��$%��;3�����������$��!"�� 
��2&���!"��%��&��#��
�������U������   
 
���������� 
 ������������������������
����
��� 
 1. 
����
(��$$%&��$��
  ����&'����������$����/3������
(��	3�����3����&           
�����
 �;������$��4�����U���&�	����  ���������������� ��	#�������2&������� 
 2. �$$%&��$��
  �������'�2�
(����.	(��
�������������)*�+� ����'�;����
���
(��$$%&��$2���&������	�������
 ��������������&  ���
(�
�������M3�������2&� 
 ����������������
��� ��!"#$��
 
 1. ��������������$$%&��$��&�������&%��������	�%��
(��'����
 ���$%���/��$$
#�����������$�3�� Q  �����
 �2&�������������&
���3��&����	3���%����� 
 2.  ��������������$$%&��$��&�������&%��������	�
���&�$(�
�����Q  ��������.	(��
%�����)*�+��3�2� 
  
  
  


